C What am I? )

Find the answer and use the letters to answer the riddle

48 - 6=(8] A
36 - 6 = | E
63 - 7= |V /1\
2 6= ]1 28-7=[]R
21 - 7= JCc 70-7=[ ]S
6 - 6= ]w 0-7=[ X
49 - 7= M 30-6=[ ]O

What do they have at the shores of small beaches?

7 2 3 4 5 1 8 9 6 10
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C What am I? ]

Find the answer and use the letters to answer the riddle

48 - 6=(8] A
36 -+ 6 =(6] E
63 - 7=[(9] V /1\
12 - 6=(2]1  28+7=[4]R
21 7 =(3)C 70+ 7=[10] S
6 - 6=(1]w 0 -7=[0]X
49 - 7=(7)M 30 -6=(5]0

What do they have at the shores of small beaches?

7 2 3 4 5 1 8 9 6 10

MJCJRIOJWIAIVIE]S]

M:thin English



